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:The Coordinates System b1-3

synoptic 3 Ylomiw! FSY pladl gn (x,y,z) coordinate system liles UGS LS
SV surface“plan (x,y) V tangent JI plan U j3lee)l wlalx! ¢S5 Eusw meteorology
: o» atmosphere JI (s dad &) \is de 9044 Orgin point

.east obwl x-axis BYCIN

north sl y-axis joxme @

LX) Soimal! e vertical g LsY] sl z-axis jyme @

:Gradients 2-3

¥ Spatial Variability JI awlys Sz osis dLopdins g dwgia isobar JI (455 lasis
. horizontal gradients dlawlg pressure JI§ Scalar dwS
gladl S B LS'P ke 4088 ddas Jla o) o il

V. E line n LIM& oy « calculate it horizontal gradients s ,3
h

Independent element iy I )lines E s vertical
the positive (¢S « (function of space and time ¢»
dy=iag . Values of E 8 850, 3)! Ll direction of n

S 950 (+VLE) asLall horizontal gradients

.depression sg>g ¢y $Hlg N 3g0all Job

horizontal b &blg)l Values of E oLl horizontal gradients slxi! 5 131 Ll
s anticyclone s9>3 (mg(—VLHE ) Loll gradients

. (1)

JE Ep —Ep ' JE Ep  —Ep
X  Ax ' dy Ay
@.@(1) dslagd pressure )| o3 S E 58 db> 3
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V,P = 1& + B_y e v e e (2)
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JI Ll Divergence Ll Jiy max. values for pressure gradients JI ) SUL ozl (yag

.convergence L& Jiexd min. values for pressure gradients

example: Calculate the pressure gradients at the point p,in the below synoptic map
if you know that the vertical and horizontal distance is 300 km.

/11
s ol
@ PP, 10091012
Ox Ax 300
b
= - =_001=2
300 km

Op p,p, 10081012

dy Ay 300
=2 = _0013 22
300 km
0
1016 hpa

P=-0.01-0.013 = -0.023 —
Vi 0.0 0.013 003km

.divergent point :,s 8,Ls high pressure center J| 4 sl horizontal gradients

:Slope and Curvature of surface 3.3

Z
AZ . 8y9a)l angle U tangent J| &I e (3,9, (plan gf) line s slop
S T ISl 1 il i el 5 penogly « s g line J 1
> |
Z, Iigfrﬂze. Calculate the rate of surface slop M (10 Sz 531 Hgloxs]!
7 // T s mok Lslasd! Llal X obsl o
R _ (92
E i i E i taneE —_ (aX)E ................... (3)

»X JI' Je Contour liens kg oy clcluate the suerfce slop S

Up or down g2 slop direction JI )| ia>e ga Synoptic map
OSas slop JI ladsd ¢ Increase or decrease dl> 3 hight JI o, 13) z-axis JI Jsbo e
: ol s (pmdlaia tow contour liens (o horizontal distance JI pudins (0 ads Jguaz!

0 = oo, the surface is vertical and all contours coincide (.tz.)

0 = O, the surface is plan and on contours in the vicinity (s ,<)

a8l Jand XZ planll 3 surface (K) L vertical curvature J! |
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0
JIU,5 5ST aSms 4o 0 yladeg 1073 45,5 las jaaw slop of surface (a_)z{) /IR CveS
 yana]]

L)

If K is negative (<0) II‘ P PEAREREN éa.»a ||~ H
If K is positive (>0) NEEE) Js¥! g jmis xaw EEEE) L

If K=o mmm) L&H o JusY -

z
I Y1 525 oo Horizontal 3.>4) slop JI ;a5 g8 curvature | a3 equ. (5)
p k<O 11{'20 k>0 (a) Sl slop s . yaloxed| JSCIL amnisgi (Shng distance
AN 920 smie Ergocdl 1l by yius 59lamy curvature )l g value Jl juis o
k=0 ) Curvature of the surface J| lc ot ,25¥]gatmosphere &

> X uio(b)di...)k;e

negative curvature to the positive curvature o J@o¥! Jis I point i wis K=0
ol cdél b conture line ¢y distance JI (5SS Ludyg . (inflection point) Jb s

.Distances divergent JI @@ max. & min. curvatures < Lg.w convergent

O E1 NS SEVESN] O TR (700hpa)€a.é..’a)1 é‘-’*ﬂ iLéS)—: L

EXMPLE: The height of the isobaric surface (700 hpa) fluctuate with the x-axis by

the relationship:

= +2 il
z = 3000 00 cos(30 X)

Where: xrepresents the horizontal distance in units of km and z in units of m

Calcate :

>3
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a) height at distances : 1500 km , 3000 km, 4500 km, 6000 km.
b) slop at distances : 1500 km , 3000 km, 4500 km, 6000 km.
c) curvature at distances : 1500 km , 3000 km, 4500 km, 6000 km.

The solution :

i
a) z = 3000 + 200 cos(%x)

x = 1500 km ; z = 3000 + 200 cos (;—0* 1500) =2815m

x = 3000 km ; z = 3000 + 200 cos (,:—0* 3000) = 3138.9 m
X = 4500 km ; z = 3000 + 200 cos (;—0 x 4500) =29283m
X = 6000 km ; z = 3000 + 200 cos (:—0* 6000) = 2993.0 m

0z
B) tanfg = (&)
E

dz 0 i 20T i
tan® = —— = ~-[3000 + 200 cos (5 -x)] =

ox 0x 30 _TSin%X

X=1500km'%:—20—“sin1*1500=

ax T 3 M3
X=3000km'%:—20—“sin1*3000=

ax T 3 M3
x = 4500 km: 22 = — 20" in ™ 4 4500 =

ax T 3 "3p
x = 6000 km; 2% = — 22" in ™ 4 6000 =

ox 3 30

9%z

C) KXZ = (E)E

662_6(201T_1T> 2m? T

~———= ———sin—x| = ———cos—x
0x0x O0x

30 30 9 ‘S35
— 1500 km ik = — 2™ cos - 1500 =
X = m;k = ———cos =5 =

2

— 3000 km; k = — 2™ cos 3000 =
X = m, = 9 COS30 =

2

— 4500 km; k = — 2™ cos 4500 =
X = m, = 9 COSBO =

2

— 6000 km; k= — 2™ cos " 6000 =
X = m, = 9 C0530 =
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:Streamlines 4 -3

y $ly. 5 ! 2 instantaneous wind vacter U tangent (6 ¢3! lineJl &I s B0
1 .air parcel U 48la] &'él%,.‘l g
dz ! 7 ol plan x,y J! > wind vacter v o513
2 E i v diraction Jb &is puaill Sug « (U,V) pemain ©LS e
0 . Stream line
: i 10959 (e time (gl w28 V') absolute value Jig (6)
P x di | o
: ' » X V = Vixy)
dx
0 = Oy

Loyl e pamyg cdy gdx o LS B line of air flow U sl paiell dxe dT 513
s AJWI & BYL Stream line U dcwlaY!
Vxdl =0

= Q) Q)
WV =ul+vj

dr = idx + jdy

1
& (ul+ vj) X (1dx + jdy) = 0; V x dF = u v
dx dy

(udy — vdx)k =0
~udx —vdy =0

dx
o u—vd—y ........................ (6)

Xy ppaal b stream line U nsl )l davall S5 2Dlel (6)2sLao

Bad] ez s aBgag miiog WIS wit stream lines wlasis| I3Istable b &Syl W&,

Example:Draw a stream line to the flow synoptic map shown in next Figure. Where

horizontal and transverse velocity codedin the following tabl.
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KCJ/ LI e
Stati
S (m/sec) | v(m/sec)
No.
1C) O 1 3.2 -0.57
2
2 2.4 -0.89
3 3.37 -2.83
0O @)

3 4
4 1.2 -3.29
@) 5 0.54 3.05

5
O 6 11 -1.91
6
s el
Jstation s volticity JI ,lude UiSgangle )| soz (6) o3y slan (10
0 =tan 1™ = tan~1Y
dy u
} show that
v V=4u?+v?
Station
u v u/v 6 DD \Y%
No.

1 3.2 -0.57 0.18 -10.2 350" 3.3
2 2.4 -0.89 -0.37 -20.0 340" 2.6
3 3.37 -2.83 0.84 -40.0 320 4.4
4 1.2 -3.29 2.74 70.0 290 3.5
5 0.54 -3.05 -5.65 -80.0 280 3.1
6 1.1 -1.91 1.74 60 300° 2.2
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{(Pressure system) ddagall olgladl5.3

W e L)l BN 5,b s cl3gatmospherl s9lucs)! ju2)l heating doess wind)! Las
olay g3lair JBe Lgluce ¢ 43 lsheating the earth surface Js sunJl Josd cus csun
dala)l 8)90)L Ldoall odd endy ccold area air dows Joud aiing saschot area Jl

09 gatmosphere ‘_,,.9 LIl allagd] gol aed ‘;‘:Jl « general wind circulation Clg W
Ikl dawly LalasMe Sy s atmosphereic pressurel! § wUMaY dns
pressure 0 13 < olsl JsCall o LSpressure pattern JI 4l &us < weather maps

05 @ Uladll S)lie b Lodlsair mass and fronts o $ ladd cau dogasystemes

.wind circulation

example: answer the following question in synoptic map.
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NOON COLD TRONT ‘ A g Sy ' | Previous 7 o
WARM FRONT e 513 —L— 5260 — L 24 LZ/
5 JAN 1989 TROUGH ISR e T 6168 —alll hours
:s.slx,y,t‘d JIsS e s 5 gia ‘“5’21 ;L:.v.d : 18)'5:3‘
P=P(xvy,1t)

1 ML JaaSisobares (8t e g &l e

P = P(x,y) = constant....... (1)

oP
Luaal) Josll il laallyg(—0): 055 s e Lglas 26 sames Wine)

dapP

e = b(x,y) = constant........(2)

sy lele &M 8,08 Jasd Q.;J‘gisallobars baall pw Lol o bahasll sda
(el pw)(Barometric tendency) S ag,ld! oMol

4ol )l dliies e weather maps e y¢las Ly | pressure systemeseal o Laadg
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:Anticyclones(high pressure) &gl olads,o13.1.1

dxcoatmospheric  pressurexnly sis  Jawdl  gmiwind  bgapanticyclones gy
Ml 13 Loy Tyl 31 Laseed! Laws)! T Ja=s uaygupper air jconversion)|
anticyclones ;Sys sishigh satiability 43 air » anticyclones sy lges. Inversion !~
Y ga g Lhe gl ol coud JI (e Ji-fair weather w¥l>sgood weather Loy Le
a3gtemperature sa5 | »gLlight and variable windss o g>aagprecipitation s g

ol(Mist) Ja)l &omey 08 wet o5 131 Ll .dry slgl o5 131 LI sWildew ¥l oSS
banl) Y sl o1 55,6l siagadge o)glme geanticyclones ¢ JWI Uil Tstsfog

y

[ General movement of air Divergence 7
® 0,2 coama® =0, 2P o 3
Eial an oy = ay2 N )
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: Ridge & gzl o> 125¥13.1.2

s dds 55 sdganticyclon gzl sl 1 b akey 98 ekl 59,1 gl ridge zladYl )l
da>Ma W (g0 saoety dalily obal S 3 (ane LS ESodll g yus (5550 33 gl 45>
ke aiipy A Al Cae o &Sl sbdil o) (a>atmospheric pressure  Joela
dudlally joiy Lagessatmospheric pressure ld aslsy I el (s lausygpressure

. good weather _yu.!
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e

1006

1004
1002

: Lzl 13¢) horizontal pressure gradient ,lridge line s bages X ygmead Gyxs! 131

6P_0 d62P<O 4
&— an ﬁ ()

:AnticyclonsJ| Lol @
bhanid ol Wlad o clod air JI bgw doe 9K :worm anticyclones .1

tropical regain s anticyclones sda i g « &yl do=ys 515559 519!
« 3= 8 cold surface U slgg)l dals duada 2o 9SS0y :cold anticyclones .2
. anticyclones ,§SCW « density 515559 (aliig slge)l 5 pmd

:Anticyclons J| slg| @
S5 gdgAsien anticyclones gl :anticycloneSiberian gyl el giye)l .1
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Swinter JM>atmospheric pressure Sl @bl (0 o>l sy b ywNW
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J=is earth JI & pressure Jisd Js| Joews 48 .Northern hemisphere

«winter J| M dawliJlAsian continental air mass UContinental cooling
Northern $ dx.stemperature sl anticycloneSiberian (yd; G
ok JM-Pacific gou denin Jo¥l 1 oS> gdipell 1da Jyong < hemispher
Atmospheric wasia) Lyl wlpdll M- doldlgAtmospheric circulation

Uil SWeather conditions s ;33 la bygl sleibW 3u8. circulation

big lbgw i HsXhg :anticyclone Subtropical s,las! as 63—*—” 2 J0 /I

Lig B S Eus tropospher)! (o o)l 55l dair ,emass
sy Byb She pospher)! o SHair (e

s Fog JI JSis umiscalm wind o saeing (30 N&S)latitude sle!
zby) yxas 984 chigh stability of the atmosphere dxcd Jo¥l ,Ldl wlelo
9o HyysMidlatitude sadverse wind LSl 1 JIsTrade winds 4, ;!

.winter JI 69 equator g>igsummer ‘59 polar

5ai) 51gg)! bgug) lad pudadl sis 95 ¢ Polar anticyclone%rla.ﬁ.” S9! &9-’;«-” 3

Subtropical .cyclonell g=polar windJl=>g35 « <53,

:Cyclones(Low pressure)(Depressions ) & gzd| osliagseiy)] 3.1.3

& Uolodl Lol wlpiil) wd))l Jala)l i¥weather map (Y dud )l jalla]l JSi3s
storms JI g 4slgb precipitations JI g clouds U 9l o lslay Watmosphere
temperature J! 61.53 ) $s8 S&SN wind d &>Llayll air mass s temperaturesyiaig
Jo=3 Jasme Js sisudepressions growth& decay Jlg ¢ wSa)l 5555 E&SE wind JI 4
Omed| asseadl GulS e jgloeadl sl 136 AoVl 3 dha g 3 g o] aks 43154)1 xS
((5) o3y dslay cyclone J! < horizontal pressure gradient (ys jusd! (Soud obsl 2L

GP_062P>0 dap_o 02P>0 .

7%= 05 an oy~ 0 ay2 AN )|
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Divergence

center of cyclon

Convergence

: Cyclones JI 0 yleio dlag

sl doenS (88Ul JSLJL arelly :Frontal depression (ggousdl  iadseid)l .1
.Cyclonic &,las¥l wl>ge)l o] fronts U dolayl wl>geil!l 3 Jolxll

Sy ¥l warm Lol ¢ Gudlizes (0ldl Led e donS (it sl iy
two air i « dawl cold air J>up9 Je¥I JI warm air asay cus < cold
. cold s,>Ylgwarm Leaos>| mass

PRESSURE. FRONTS AND CLOUDS
,/-'—\\ W ( v

—
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non-continuous heterogeneities yoims il pladl Frontal depression 3
Jsb s continuous heterogeneities yaxus! yiladlsfront JI e pressure gardenante
s JWI ISl 3 ane LS Fronts U 5.0 Y oM iofront

WARM SECTOR =

Cold
Front Front
s 55 LB fromt sl s bsaall (daep, P/ olS 1306
dp dp/
—p/=0,———>0 ......(6
p=P "0x  0x (6)

byl Lewisobar ¥ (66 o Jg¥! pabyivge front gbliy ol e X jema )Ll o5 Ls
front s had 5uay o) SWI
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:the weather of frontal cyclon & gpa| wladseiol 331,01 udlall

clod front § warm sector gwarm front . JUsFrontal depression s 8,le oMs! JSCi!
o2l Jir Jgae Lal 61.3 ledg . ) colad! el ane 89,04 (aSlase los JI sosd
- dasel) Llog L8 moUIFrontal depression glblie ¢ (34,4l

Weather
Cold front Worm sector Worm front
elements
Atmospheric
ALy Sl ZY-L5e
pressure
S )1»518&&&51
slxil 3 Jls e IR PRk Temperature
5 oSyl
Lol 8 wig alay
Sl slsg oS olmil B iy slag Wind
slags 8oL b slos AR humidity
Cu&Chcloud o &lecirres cloud ¥l
fog fous o dawgiestcloud Cloud
Rainfall N L 13, Laad]
(%15-%1) ;S _ (1%) jio Front gradient
oo,y Losy— o KVES Visible
day yus Ay yoo — Ly SN Speed
W D Gyl ozl :
S S5 Jﬁ)’ ? ) & e Jo Pressure declin
33.9..4.' f S &c.’ 529 cb.la.sz..a.”
sIsobar
CM)J ) Shape and color
_A_‘_ ) )m ’ painting
Llgmg
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precipitation ¢ cloudasl,; L 1,45y : Non frontal depression (gatuad! pé adse ! .2

Gble aieg front Jl mhu (e Bl s Saod Al air mass ssmo dden) L

. z3Jl ais convergent

: Non frontal depression JI slgil ®

earth s air worming TR Thermal depression é)‘).‘)f.” LAty -1
hot 3 LS ¥ Jlit is density and height adlig ssoes ! S5 Lwesurface
wind sbsjl Jkunstable conditions Laslicyclones sia (460 sied < Regan
zbs bealay LYl e ;5 g heavyprecipitationsgcu clouds JSiigspeed
sy lee depression x| aisia. Ll dypnggphot & dry w ddl>g 5,1~
Lol Srgam 1 5352 Lon o) e 1 23198)) iU 53,Lr ¥ 390l Aom

:cyclones type &gzl wliasseiy ]! slgil @
Y typ gy

gl pgyall bl bawsgisll sl akie Sgu il el adkie .1

L3lgel Jxsdlg 8yl 451 gnadl Ldlge)) Sl Saload) Jelidl domcd 509
sy iyl il on ol Sty St il gl B 350 e
Jrand P Ghall & Slog )il wlorys (5 aaly Ldluds dogd b,y 4Bl o)5me
iyl b 8 gy Vg iyl g )] L o 3S1 S St sl
4 Bl ZL ) dsyng pgr 82 8 g oS s ST 5l 2000 km dslu]

119 km/hr JI Joas L1 ams (5 30-15 km/hr

g.&.‘\ @lawl aida)l g 3905Y1 13a jouae ired sea trough oYl jllsgusl .

@ Sl e Ghall JI 6yt Jany sedaalling 3V wlpeedl 98 JSCiy
el Jhad S Glhall e 0,50 ()950g Sl aelas addly CdeY) ey poinl]
el 397y s Lo 0350 ey i Blg sl Jad o ST Sy

grgell S92

:Monsoon low pressure o gel! $9d jassi ! .

bl & 825l &yl Cl,g),” NS < J.,a.a.” <l g 1 Monsoon
s 3 il amsel] misiall Sk iV 55 pas b o)
N Ygog pladl Dby Glyally Lo yall 80 52)) aleg Blnl 398 LyE e el 289
o S o )] gl Sl s Gl 5,35 Jeasy gl )l vl
sl oLl oy Sl el o 550 51 miiil Lige ol s 5
8yt Lusior Lol gy Byl &g LSS 4l ¢ i)l Al
) Lowd 3 W1 slggll pads gie adsed! ldag <45 km/hr JI s loxe oo

Syl s (s9ell i yel slaa
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59 Sl Je 55 :subtropical low pressure (,lae)! 4o 65’!—” Laiie)l 4
s Gadisiall 130 ey a5 s 03By iyily gy slitd]
Sledl Griseindl Olio d L 3 Jlets b & laedl s Gblall oynang awgel!
Bluwy 555 )b a3 0,80 dxluag . 64 km/hrasl, dspm o Jawgills
200-100 km

05 25 Y Byie Blas sy dppladl] Sllaomell 98 o 09 1 bl 92 Gadinial 5
17m/sec o J&Y a>lyy de s 1000 km Jlg> 0881 d3lue) axang plif daiay

(Trough) &exl susls-¥13.1.4

v.i]oj <LM.9.A 4.’9.> oYl 99......’ d]‘ k,f"é" JSY' ‘_s” ERYCITY éa....“ s 9‘54.” ngi" 4.\14.9 u‘
OB sgusdl s P SS90 X BYCN PORPRVETS sl us)bajl aslas cUl1s 69 L g2,
.-: M

aP_O dazp—>0 7
F an g2z == 0o (7)

1000

998

Cols (gaJl) 555J13.1.5

Ut 3 Lagdl 1ppiil) 65 Lo WL g 8.5L1 &315)! JxSUT il e Lgud il gy
las e g Loaal 5,8 A Ul s3liaxdl g blglly Jlall ol wloglaia o yliasy b3y
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ooyl dibase o6 3l e Jlallg e bolgll aaiall jelma Jsbo Sleg Xy cnygmeed] Ui 13)
gEBr

aP_O 0%P <0 daP_O 0%P
0x  '0x2P anl oy "dy?P

>0......(8)

Moving system coordinate 45! olaglate]! gl 3.2

Jl WC_) u)wul iJ)zu 6)""2”3 «Ia)l:- ;§L€ w 5»‘5 )315%.” O (S gema ua)w
BT Rt | FEIVE N

0
d

. 45)99.@)‘ )5‘&:.9.” GS(M‘JWJ‘) 45)99.@)‘ idasdl s Gsua}v.” ))LSA.” : a

t o] cpda oo B3I 13

V=C ¢ ol alad)l s &51301 &lgg)l dnall g50a5 o) J) 3,531 a a¥

: 6BC deyud] Jsb e x yymmall il 5o 131, Bl pglone)l Syl p Ve

d_0o_ .0 0
— T . *_
= ot Cr o (10)

Lold 18 5] e 355 (oiole Lon (10) 5(9) (pdolas)

Velocity Formulas _dspuJ! 51483.3

3 Tl ol Bl ) ) omte Ladiin! Lod 68 o3l dbaical] LL3YI bghas Jo¥l sadl s Lidys

(35515 bgaaall Slya J2o) bladl U3 e Mind . bghasdl oia ga s il jloms)l plls
el bghasel) ablis LS d)e

LI byl ey s Wi 5= 0 5131 (10) Dolasll o
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_9%p
Isobar:C = Tgt e e e (11)
ox
62p
T 12
Isallobars: C = agt e e (12)
0x2
_9p_0p.
— o0t ot
Front :C = —6_p_6_p v wem wweew (13)
0x O0x
_9%p
Trough line (or Redge) :C = gTX;t e eee wae s (14)
9x2
_9%p
Cyclonic and anticyclone Cy = —9x0t (15 )
Y cy X a2p ot a
0x2
_9%°p
dy ot
Centers and cols : Cy = é vee wes wen s (15b)
6y2

Intensification of pressure system &gzl ologlated! slaiisl 3.2

w255 . laall daglare me Jyoeis W ylouall allas b ol JI slans¥l ellaca e
il 13e aBUS s il Lo sloj basall ool lada 15 131 ddaiial] daglazy)!

- P Llasa)l wleghigl jald oy 55 wixllas Jla

! 5 laall (@8lS s asty OL assee]l S JW: Deepening o)l -1

dP<0
d

t
)¢ Syl b baaiall 85l aie ey Gb Gaiini)! S0 JUs : Filling sdxe¥! -2

L)l peaia) (9) Woladl Gaddass 5500 (5Da¥] 1) Gomdl Jomae s

dP 9P

— =—+CVP........ 16
ak ot (16)
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t 23 (16) B VP = 0 &l g1 ¢ wlaghaisd] 55150 GBg,ks LisT 1314

dP 9P

dt ot
il $Y Loplu (SCa 5D 15 o] ()1 L) lyamndVL 5uaiS laiall (g5l gl (1555
ol 81 dA Lo Lyl iy g 15 423 (16) Dslas JolSxs U3y biall 55las base Lilaa

dP oP A
j —dA=J —dA+C.f VPdA =0
A A at A

dt
y f deA—f anA (17)
N N e
Il gl o ged] baromatric ,Mued] JI Tolis! plinds ol Gosis JSS il daghita o)l

. 3layllisobar M=
idaiin)] Loglaig)l 5ty dnhiiall degliigl) Slaxis¥l Lelide ey yons ol Jgmadl LSy
2 e mr € oudl 1 IS 5,00l (30 2lenal 835 paVP ot S e soitay

0?P  0°P _
(=V>.V’P=V?P = 5T 72y = Laplactionof P .... (18)

1(9) o3y Wslae b € sl ayamd (po duls uammid 2oyl naiall Spa) slans¥] Lol

d¢ 0¢
dt  at
Or

Q@ _ 9 (9P 0%\ (0P 9P
dt  at\ox2 = dy? *\ox3 = 0xdy?

+C < o°p + a3p> ... (19)
Y\oxzoy o0y3
O RNT TP JOVSSHEN{HE SRR ENNES RN ERVESS BV E N R
L 055 ol wtlany el Ll byos 8
03P 9%P 93P 93P
X3 Ox 0%y ~ ox? dy - dy3 -
(19) dLJ1 Dslaglly aagadls

+C7.V70 .. ... (19)
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dg¢ o 62P+62P
dt 0t 9x2 = 0Jy?2

dpP
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